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O0lcHE ety 54 FR2=2H 16,200,000 16,200
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Al 90,000
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< 113,400
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< 113,400
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10 SISt B a XA 380,000 37,000 343,000
OXZGS/NSE MBS SRR 380,000, 000& 380,000
< 113,400
Al 266,600
ICT/SWS & &t X <2 &> 16,000 37,000 A 21,000
< 8,000
Al 8,000
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< 8,000
Al 8,000
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Al 8,000
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Al 120,000
308 XXIEHH S0 A 387,000 250,000 137,000
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< 100,000
Al 120,000
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Al 8,000
308 XtXIEHHSOIA 16,000 35,000 A 19,000
< 8,000
Al 8,000
10 B2 S0ltHs 16,000 35,000 219,000
O2g=2=I1CT& 16,000, 000& 16,000
< 8,000
Al 8,000
SWEEEHAAHIZEAMLFAX 950,000 950,000 0
< 270,000
Al 680,000
308 XXX S0 950,000 950,000 0
< 270,000
Al 680,000
10 SIS0 THe 950,000 950,000 0
ON[=3=13—1= F 950,000, 000& 950,000
< 270,000
Al 680,000
ot 324 ¢ X (o =/ =H2RS) 6,300,960 723,744 5,577,216
< 2,880,000
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g2 x>
< 15,000
Al 35,000
307 gl2tol & 50,000 50,000 0
< 15,000
Al 35,000
02 IZtEHAHE L 50,000 50,000 0
ORetatsr Fojntsl 2atatdtALY
50,000,000& 50,000
< 15,000
Al 35,000
OLAIOtEH B L0l 2 Sl EH X (2 A E X & )<E => 400,000 0 400,000
< 200,000
Al 200,000
307 2201 A 400,000 0 400,000
< 200,000
Al 200,000
02 It HAHE L 400,000 0 400,000
OOtAICIEH B 20l E=ldH XA
400,000,000& 400,000
= 200,000
Al 200,000
EHISAESFUEH P S<EER> 500,000 0 500,000
< 150,000
Al 350,000
402 RI2EX20| 500,000 0 500,000
= 150,000
Al 350,000
02 2IZE 2 A EZ (01X THS) 500,000 0 500,000
OFHII=Adatdy ZHES 500,000,000 500,000
< 150,000
Al 350,000
NBA Z2HE FEA<E > 4,030,000 0 4,030,000
< 2,015,000
Al 2,015,000
307 glz2tol & 30,000 0 30,000
< 15,000
Al 15,000
02 It M AHE X 30,000 0 30,000
OJE£D1018 Alorfe I HAEZXY X2
30,000,000& 30,000
< 15,000
Al 15,000
402 RI2HX =201 M 4,000,000 0 4,000,000
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OHI0I2 QEOI-HIOIEHE FZ A (2-24 Xt
) 4,000,000,000& 4,000,000
< 2,000,000
Al 2,000,000
XL AR (&Y - ZSAIG /0 XL AN E) 826,060 550,200 275,860
= 280,000
= 236,000
Al 310,060
AN HX 25K 826,060 550,200 275,860
= 280,000
< 236,000
Al 310,060
Jel 21008t s 2 g At<E > 120,000 115,000 5,000
< 36,000
Al 84,000
402 BI2EX=01 M 120,000 115,000 5,000
< 36,000
Al 84,000
02 QI EAILS EZ (OIS ) 120,000 115,000 5,000
Oel s 1008t E2AtE
2,000,000& 602t = 120,000
= 36,000
Al 84,000
=A2HZ X Test-Bed RS AA<E > 250,000 50,000 200,000
< 200,000
Al 50,000
308 A EHHSOIA 250,000 50,000 200,000
< 200,000
Al 50,000
10 B2 S0t B & XA 250,000 50,000 200,000
OHZEX HAEHE JIAHT IHLASD XA (
3-24Xt) 250,000,000 250,000
= 200,000
Al 50,000
ALTH A 0l L KA 50,820 20,820 30,000
201 Let249] 17,020 17,020 0
01 At 22l 7,020 7,020 0
O1. L et==ZH| 4,500
SUTHAMOI X 2REN UstagY|
2,500,000& 2,500
MHMUHEXAY S22 |2
5,000& 400 2,000
Ob5.= &l 2,520
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MM AHEHX RFE AMAJAZ2 LRI S 4
7,000 x3@x10L x 128 2,520
02 2224 4| 10,000 10,000 0
O3. A& & HI KX HI 10,000
“AMTHAEHEHKAIE SANES (T2 LENL G A
o) 400,000 *2504 2~ 10,000
202 044 3,240 3,240 0
01 2L Hl 3,240 3,240 0
OAMTHMAHH X H2F=& ]
60,000 *3H 3L x63] 3,240
301 et A= 560 560 0
09 HAIAHI BEAZ 560 560 0
OXMTNMAHHXIZ20t 2032 EAX 3
Al 7,000 x20H *4 3] 560
308 XHXIGH SO0l & 30,000 0 30,000
10 2| 2SHUSHE A X HE A ] 30,000 0 30,000
O0URX & 2 nstdt HAE Bt ZS XA
ZE-SAH) 30,000,000 30,000
FAHESUHUH KX S A AE<E > 405,240 359,380 45,860
= 280,000
Al 125,240
401 AlEHIZL 2 0HY| 205,240 159, 380 45,860
= 140,000
Al 65,240
01 Al&H| 200,000 150,000 50,000
OMSSXIAIE LED ZH W H
200,000,000 « 1Al 200,000
= 140,000
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200,000,000< *x2.26/100 4,520
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